


6,245,800

5,678,000

A=2,929._4m2
V= 639.7m3
V= 584.7m3




06 06 15

06 04

06 04

05




H00100

6,245,800
H00200
6,245,800
01
K0006
6,245,800
Q00001

6,245,800




01

K0006
1 6,245,800
U
1 2,450,352
v
1 2,354,592
W
1 213,659
5,000m3 SP210100-0001 -1 -1
639.7 m3 334 213,659 1
W
1 1,808,290
« )
4.0m  10,000m3 SP210510-0001 -1 -1
584.7 m3 233 136,235 2
( ) TT8350 P181
910 777.7 m3 2,150 1,672,055
W
1 332,643
0.8m3(  0.6m3) SP210110-0001 -1 -1
0.3km  DID ( 639.7 m3 389 248,843 3
SP210610-0001 -1 -1
639.7 m3 131 83,800 4




1 95,760
W
1 95,760
S010210-0001 -5-21-1
6 15,960 95,760 1
P0000001
2,450,352
HO3701
1 753,920
( )
H00802
1 265,320
H20005
1 265,320
-10 4 (203140-0001 5 p2-2-10
49; 5,360 265,320 1
« )
HO00803
1 488,600
2,450,352*19.17%*1.04 Q00910
1 488,600
H00600
1 3,204,272
3,204,272*40.91%*1.06 Q00601
1 1,389,372




HO0500

4,593,644

4,593, 644*23.57+1,837 Q00501
1,084,558

H00400
5,678,000

5,678,000%10.00% 00401
567,800

Q00402

6,245,800




1 (5010210-0001)
( -5-21-1 ) )
B
[0.902(3/1  0.904)] TR0900 P935
900 1 15,960 15,960
P0000001
15,960
P0000002
15,960
1
[Bl] = 2




(6203140-0001)

-10
5 P2-2-10 ) )
GL-1om N 4 TT0390 P11
€00 5,360 5,360
P0000001
5,360
P0000002

5,360




1 (SP210100-0001)

5,000m3 1 m3
( ) ) ( -1- -1 334
Q) ()
45.14
:3
0.8m3( 0.6m3) TM802002421 p2-1-12
42.904 143.3 45.14 20,600 20,600
34.64
[0.796(3/1 0.793)] TR0120 P932
900 37.725 126 34.64 25,300 28,980 4 8
20.22
( ) TT0250 P247
910 19.509 65.16 20.22 138 140
-0.138 -0.46
1
(G 317.66 x {
(45.14 100x 20,600 20,600)x 45.14 45.14
(34.64 100x 28,980 25,300)x 34.64 (34.64
(20.22 100x 140 138)x 20.22 20.22
(100 45.14 34.64 20.22) 100} 334
1
[J1]1 =1 [J2] =1
[J4] = 2 [J5] =1
[J6] = 3 5,000m3




(SP210510-0001)

) 4.0m  10,000m3 1 m
( -1- -1 233
Q) ()
18.74
[
7t TK2780 P570
BOO 12.056 28.09 11.51 6,010 6,850
[ 1
;11 12t TKQ890 P566
BOO 6.880 16.03 7.23 11,200 11,600
64.69
[0.796(3/1  0.793)] TR0120 P932
900 46.180 107.6 43.87 25,300 28,980
[0.852(3/1  0.847)] TR0030 P932
900 19.820 46.18 20.82 22,300 23,100
16.57
( ) TT0250 P247
910 15.446 35.99 16.57 138 140
-0.382 -0.89
(P*) 214.13 x {
(11.51 100x 6,850 6,010 7.23 100x 11,600 11,200)x 18.74 (11.51 7.23)
(43.87 100x 28,980 25,300 20.82 100x 23,100 22,300)x 64.69 (43.87 20.82)
(16.57 100x 140 138)x 16.57 16.57
(100 18.74 64.69 16.57) 100} 233




)

(SP210510-0001)

4._0m

10,000m3

m3

233

()

Q)

1

4_0m

[041 =1

10,000m3

[J5

[




3 (SP210110-0001)
0.8m3(  0.6m3) 1 m
(0.3km  DID « ) )y ( -1- -1 389
Q) ()
46.25
10 TM103000521 P2-1-21
42.828 166.6 46.25 20,667 20,667
38.07
[0.821(3/1  0.816)] TR0130 P932
900 42.622 165.8 38.07 21,100 25,515 4 8
15.68
( ) TT0250 p247
910 14.730 57.3 15.68 138 140
-0.180 -0.7
[ 1
(At002)=FUNC_KIKAI((At001),0)
20,000=FUNC_KIKAI(TM103000521,0)
(At004)=FUNC_TANKA((At003)) ot )
667=FUNC_TANKA(TFM0404)
(At005)=(At002) (At004)
20,667=20000 667
[
(P")  360.24 x {
(46.25 100x 20,667 20,667)x 46.25 46.25
(38.07 100x 25,515 21,100)x 38.07 38.07
(15.68 100x 140 138)x 15.68 15.68

10




3 (SP210110-0001)
0.8m3(  0.6m3) 1 m
(0.3km  DID , «C ) )y ( -1- -1 , ) 389
Q) ()
(100 46.25 38.07 15.68) 100} 389
[ 1

[J1] = 1 [J2] =1 0.8n3(  0.6m3)
[J3] = 1 ( ) [041=1 DID DID
[J5] = 1 0.3km

11




4 (SP210610-0001)

1 m3
-1- -1 131
Q) ()
24.02
[ 1
0.8m3( 0.6m3) TK9203 P568
BOO 24.427 32 24.02 8,800 9,870
49.00
[0.796(3/1 0.793)] TR0120 P932
900 50.893 66.67 49.00 25,300 28,980
26.98
( ) TT0250 P247
910 24.817 32.51 26.98 138 140
-0.137 -0.18

1
(P) 118.79 x {

(24.02 100x 9,870 8,800)x 24.02 24.

(49.00 100x 28,980 25,300)x 49.00
(26.98 100x 140 138)x 26.98 26.98

02
49.00

(100 24.02 49 26.98) 100}

131

1
[91] = 1
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